From Kinjun Simulations, we were testing different kinematics (for kaons)

500

400

300

200

100

Proton Beam: 100

Electron beam: 10 GeV/C

_1000

B

& 900

G
800
700
600
500
400
300
200

100

hQ2vsX
% Entries 11942 r\f 000
= Mean x 0.395 3 900
Meany 426 o~
RMS x 0.2546 o
RMS y 281.2 800

700

600

500

400

300

200

100

GeV/C

2
Q° vs. Xg

Proton Beam: 100 GeV/C
Electron beam: 5 GeV/C

0.3

Q% vs. xg
/ hQ2vsX
T Entries 8463
Meanx  0.4658
Meany 368.5
" | RMS x 0.2589
RMSy 2735

. = ] i 5
e :

; al BT e

04 05 0.6 0.7 08 09

0.2 0.4 0.5 0.6

Proton Beam: 50 GeV/C
Electron beam: 5 GeV/C

0.8

hQ2vsX
Entries 5081
Meanx 05198
Mean y 259.1
4 RMS x 0.2736
219.3




Then, | wrote a function to get the limit separation between allowed and forbidden region...
f2N vs Q°

200

100

f2M Limit Curve
=
m

=
n

0.4

0.3

0.2

01

L
104
QE

But... It turned out not being so useful...
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Now...
Cut..
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These boxes are just graphical
representations of the applied cuts
(size do not math the cuts being
applied)

The idea is to make different cuts and to get the F2K value for every event in each
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Q"2 Cut [63.100:100] X Cut [0.316:9,398]
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Now, for each cut, we get the mean value of F2K.. and with these values we make a plot as
a function of Q"2 (For each X-Cut)...

F2k vs Q2 xB;j[0.0100:0.0125] F2k vs Q% xBj[0.0125:0.0158]
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F2k vs Q2 xBj[0.1250:0.1580]

In these cases, the horizontal error bars are
fixed (we need to fix them) and the vertical
error bars are just the error propagated in

Jf taking the mean value TH1D::GetErrorMean()
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Jr However, physics’ constrains needs to be
included in computing the error bars! That's
jr the final goal!
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